		BaseLine Item Detail	Colonnelli E	Brothers, Inc.	Joseph M. S	Sanzari, Inc.	Ferreira Constr	uction Co. Inc.	Crisdel Gro	oup, Inc.	D'Annunzio 8	& Sons, Inc.
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price I	ine Total	Unit Price L	ine Total	Unit Price I	ine Total
1 104-0001	1.00 L.S.	Construction Layout	\$15,000.00	\$15,000.00	\$60,000.00	\$60,000.00	\$150,000.00	\$150,000.00	\$37,000.00	\$37,000.00	\$25,465.60	\$25,465.60
2 104-0002	1.00 L.S.	Mobilization	\$150,000.00	\$150,000.00	\$150,000.00	\$150,000.00	\$210,000.00	\$210,000.00	\$228,500.00	\$228,500.00	\$230,000.00	\$230,000.00
3 107-0001	1.00 L.S.	Progress Schedule	\$5,000.00	\$5,000.00	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
4 108-N0002	150,000.00 USD	Allowance for Unforeseen Work (No-Bid)	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00	\$1.00	\$150,000.00
5 202-0002	888.00 C.Y.	Roadway Excavation, Earth	\$50.00	\$44,400.00	\$220.00	\$195,360.00	\$135.00	\$119,880.00	\$126.01	\$111,896.88	\$200.00	\$177,600.00
6 202-0006	484.00 S.Y.	Removal of Concrete Pavement	\$100.00	\$48,400.00	\$212.00	\$102,608.00	\$165.00	\$79,860.00	\$62.88	\$30,433.92	\$180.00	\$87,120.00
7 202-0009	10,000.00 USD	Environmental Testing for Unsuitable and Excess Materials (No-Bid)	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
8 203-0002	449.00 C.Y.	Embankment, Grade A	\$95.00	\$42,655.00	\$90.00	\$40,410.00	\$115.00	\$51,635.00	\$105.85	\$47,526.65	\$140.00	\$62,860.00
9 207-0001	24.00 Ton	Riprap Stone Slope Protection, 12in Thick, (D50=6in)	\$250.00	\$6,000.00	\$185.00 \$750.00	\$4,440.00	\$213.00	\$5,112.00 \$6,000.00	\$266.25	\$6,390.00 \$4,792.50	\$350.00	\$8,400.00
10 208-N0001 11 208-N0002	3.00 Each 5.00 Each	Concrete Washout Facility Sediment Control Bags	\$1,000.00 \$1.00	\$3,000.00 \$5.00	\$350.00	\$2,250.00 \$1,750.00	\$2,000.00 \$1,100.00	\$5,500.00	\$1,597.50 \$770.29	\$4,792.30	\$1,200.00 \$400.00	\$3,600.00 \$2,000.00
12 208-0008	1,647.00 L.F.	Heavy Duty Silt Fence	\$1.00	\$1,647.00	\$11.00	\$18,117.00	\$1,100.00	\$26,352.00	\$11.34	\$18,676.98	\$15.00	\$2,000.00
13 208-0013	30.00 L.F.	Floating Turbidity Barriers	\$1.00	\$30.00	\$65.00	\$1,950.00	\$68.00	\$2,040.00	\$84.76	\$2,542.80	\$40.00	\$1,200.00
14 208-0022	10.00 Each	Inlet Filter, Type 2	\$25.00	\$250.00	\$300.00	\$3,000.00	\$900.00	\$9,000.00	\$194.36	\$1,943.60	\$90.00	\$900.00
15 210-0002	1.00 L.S.	Demolition Of Existing Structures No. 1	\$200,000.00	\$200,000.00	\$170,000.00	\$170,000.00	\$150,000.00	\$150,000.00	\$125,000.00	\$125,000.00	\$210,000.00	\$210,000.00
16 210-0003	1.00 L.S.	Demolition Of Existing Structures No. 2	\$280,000.00	\$280,000.00	\$170,000.00	\$170,000.00	\$150,000.00	\$150,000.00	\$125,000.00	\$125,000.00	\$210,000.00	\$210,000.00
17 210-0004	1.00 L.S.	Demolition of Existing Structures No. 3	\$210,000.00	\$210,000.00	\$170,000.00	\$170,000.00	\$150,000.00	\$150,000.00	\$125,000.00	\$125,000.00	\$210,000.00	\$210,000.00
18 213-0002	30.00 Ton	Disposal of Regulated Material	\$55.00	\$1,650.00	\$100.00	\$3,000.00	\$135.00	\$4,050.00	\$106.50	\$3,195.00	\$150.00	\$4,500.00
19 299-N0013	28.00 S.Y.	Geosynthetic Embankment Reinforcement	\$100.00	\$2,800.00	\$50.00	\$1,400.00	\$75.00	\$2,100.00	\$214.38	\$6,002.64	\$250.00	\$7,000.00
20 299-N0014	25.00 Ton	Boulder	\$100.00	\$2,500.00	\$240.00	\$6,000.00	\$245.00	\$6,125.00	\$466.57	\$11,664.25	\$800.00	\$20,000.00
21 301-0001	595.00 S.Y.	Aggregate Base Course, 6.5in Thick	\$22.00	\$13,090.00	\$25.00	\$14,875.00	\$19.00	\$11,305.00	\$30.40	\$18,088.00	\$18.00	\$10,710.00
22 301-N0002	544.00 S.Y.	Aggregate Base Course, 8 in Thick	\$35.00	\$19,040.00	\$34.00	\$18,496.00	\$29.00	\$15,776.00	\$54.33	\$29,555.52	\$65.00	\$35,360.00
23 302-0002	762.00 Ton	Hot Mix Asphalt 12.5M76 Surface Course	\$144.00	\$109,728.00	\$216.00	\$164,592.00	\$250.00	\$190,500.00	\$201.10	\$153,238.20	\$225.00	\$171,450.00
24 302-0003	123.00 Ton	Hot Mix Asphalt 19M64 Intermediate Course	\$160.00	\$19,680.00	\$192.00	\$23,616.00	\$225.00	\$27,675.00	\$137.24	\$16,880.52	\$275.00	\$33,825.00
25 302-0004	554.00 Ton	Hot Mix Asphalt 25M64 Base Course	\$155.00	\$85,870.00	\$362.00	\$200,548.00	\$225.00	\$124,650.00	\$130.89	\$72,513.06	\$300.00	\$166,200.00
26 302-N0007	749.00 GAL	Trackless Tack Coat	\$16.00	\$11,984.00	\$1.00	\$749.00	\$1.25	\$936.25	\$4.26	\$3,190.74	\$5.00	\$3,745.00
27 302-0063	1,300.00 USD	Asphalt Price Adjustment (No-Bid)	\$1.00	\$1,300.00	\$1.00	\$1,300.00	\$1.00	\$1,300.00	\$1.00	\$1,300.00	\$1.00	\$1,300.00
28 302-0071	9,022.00 L.F.	Polymerized Joint Adhesive	\$1.00	\$9,022.00	\$1.00	\$9,022.00	\$1.00	\$9,022.00	\$1.15	\$10,375.30	\$2.00	\$18,044.00
29 305-0003	4,081.00 S.Y.	Pavement Removal, 2 1/2in Depth	\$12.00	\$48,972.00	\$5.00	\$20,405.00	\$10.00	\$40,810.00	\$20.00	\$81,620.00	\$25.00	\$102,025.00
30 305-0008	390.00 S.Y.	Pavement Removal, Variable Depth	\$50.00	\$19,500.00	\$5.00	\$1,950.00	\$12.00	\$4,680.00	\$30.50	\$11,895.00	\$25.00	\$9,750.00
31 406-0009	1.00 L.S.	Overhead Cantilever Sign Support Structure No. 1	\$85,000.00	\$85,000.00	\$45,000.00	\$45,000.00	\$95,000.00	\$95,000.00	\$47,925.00	\$47,925.00	\$48,000.00	\$48,000.00
32 406-0012	1.00 L.S.	Overhead Cantilever Sign Support Structure No. 2	\$89,000.00	\$89,000.00	\$45,000.00	\$45,000.00	\$95,000.00	\$95,000.00	\$47,925.00	\$47,925.00	\$48,000.00	\$48,000.00
33 429-N0002	50.00 L.F.	42 in Drilled Shaft for Sign Structures	\$2,800.00	\$140,000.00	\$2,800.00	\$140,000.00	\$2,000.00	\$100,000.00	\$2,236.50	\$111,825.00	\$2,200.00	\$110,000.00
34 502-0005 35 502-0006	116.00 L.F. 32.00 L.F.	15 in Reinforced Concrete Pipe, Class III 18 in Reinforced Concrete Pipe, Class III	\$150.00 \$210.00	\$17,400.00 \$6,720.00	\$165.00 \$245.00	\$19,140.00 \$7,840.00	\$115.00 \$190.00	\$13,340.00 \$6,080.00	\$155.66 \$179.42	\$18,056.56 \$5,741.44	\$140.00 \$250.00	\$16,240.00 \$8,000.00
36 503-0001	2.00 Each	Inlet, Type D3	\$8,000.00	\$16,000.00	\$15,000.00	\$30,000.00	\$5,000.00	\$10,000.00	\$7,273.41	\$14,546.82	\$6,000.00	\$12,000.00
37 503-0252	3.00 Each	Reconstructed Inlet, Type D1, Using New Grate and Frame	\$3,500.00	\$10,500.00	\$5,650.00	\$16,950.00	\$2,200.00	\$6,600.00	\$1,261.31	\$3,783.93	\$1,500.00	\$4,500.00
38 503-0253	1.00 Each	Reconstructed Inlet, Type D2, Using New Grate and Frame	\$3,500.00	\$3,500.00	\$6,500.00	\$6,500.00	\$3,000.00	\$3,000.00	\$3,448.54	\$3,448.54	\$3,000.00	\$3,000.00
39 503-0293	2.00 Each	Reset Frames	\$500.00	\$1,000.00	\$1,800.00	\$3,600.00	\$800.00	\$1,600.00	\$2,719.66	\$5,439.32	\$2,500.00	\$5,000.00
40 504-0011	1.00 C.Y.	Incidental Concrete	\$500.00	\$500.00	\$5,000.00	\$5,000.00	\$1,400.00	\$1,400.00	\$2,497.99	\$2,497.99	\$700.00	\$700.00
41 506-0001	433.00 L.F.	Concrete Curb, Type A	\$90.00	\$38,970.00	\$100.00	\$43,300.00	\$65.00	\$28,145.00	\$59.64	\$25,824.12	\$100.00	\$43,300.00
42 506-0004	17.00 L.F.	Concrete Curb, Type B Doweled	\$250.00	\$4,250.00	\$145.00	\$2,465.00	\$77.00	\$1,309.00	\$72.42	\$1,231.14	\$200.00	\$3,400.00
43 508-0007	948.00 L.F.	Concrete Median Barrier Removal, Roadway	\$100.00	\$94,800.00	\$67.00	\$63,516.00	\$69.00	\$65,412.00	\$68.71	\$65,137.08	\$125.00	\$118,500.00
44 509-0001	121.00 S.F.	Sign Panels	\$60.00	\$7,260.00	\$125.00	\$15,125.00	\$122.00	\$14,762.00	\$133.12	\$16,107.52	\$130.00	\$15,730.00
45 509-0007	5.00 Each	Removal of Existing Overhead and Ground-Mounted Sign Panels	\$6,000.00	\$30,000.00	\$1,000.00	\$5,000.00	\$4,500.00	\$22,500.00	\$1,065.00	\$5,325.00	\$1,100.00	\$5,500.00
46 509-N0009	5.00 Each	Relocate Sign Panels (Overhead)	\$2,500.00	\$12,500.00	\$7,500.00	\$37,500.00	\$6,500.00	\$32,500.00	\$7,987.50	\$39,937.50	\$7,700.00	\$38,500.00
47 510-0001	251.00 L.F.	Beam Guide Rail	\$90.00	\$22,590.00	\$55.00	\$13,805.00	\$94.00	\$23,594.00	\$58.57	\$14,701.07	\$60.00	\$15,060.00
48 510-0031	371.00 L.F.	Removal of Beam Guide Rail	\$25.00	\$9,275.00	\$10.00	\$3,710.00	\$16.00	\$5,936.00	\$10.65	\$3,951.15	\$12.00	\$4,452.00
49 511-N0025	50.00 L.F.	Reset Fence	\$2.00	\$100.00	\$45.00	\$2,250.00	\$26.00	\$1,300.00	\$95.40	\$4,770.00	\$20.00	\$1,000.00
50 514-0001	36.00 S.Y.	Concrete Sidewalk, 4in Thick	\$180.00	\$6,480.00	\$350.00	\$12,600.00	\$850.00	\$30,600.00	\$745.50	\$26,838.00	\$650.00	\$23,400.00
51 516-0005	9,492.00 L.F.	Striping and Marking Removal, Hydromilling	\$2.00	\$18,984.00	\$2.00	\$18,984.00	\$1.75	\$16,611.00	\$2.13	\$20,217.96	\$2.20	\$20,882.40
52 516-0007	1,000.00 L.F.	Temporary Pavement Striping	\$2.00	\$2,000.00	\$2.00	\$2,000.00	\$2.25	\$2,250.00	\$1.92	\$1,920.00	\$2.00	\$2,000.00
53 516-0009	5,471.00 L.F.	Traffic Stripes, Long-Life, Thermoplastic	\$2.00	\$10,942.00	\$2.00	\$10,942.00	\$1.75	\$9,574.25	\$2.08	\$11,379.68	\$2.00	\$10,942.00
54 516-0011	3,766.00 L.F.	Traffic Markings, Lines, Long-Life, Thermoplastic	\$2.00	\$7,532.00	\$2.00	\$7,532.00	\$2.00	\$7,532.00	\$2.08	\$7,833.28	\$2.00	\$7,532.00
55 516-0013 56 517-0002	269.00 S.F. 1.00 L.S.	Traffic Markings, Symbols, Long-Life, Thermoplastic Furnish Field Office, Type B	\$10.00 \$8,000.00	\$2,690.00 \$8,000.00	\$10.00 \$35,000.00	\$2,690.00 \$35,000.00	\$11.50 \$30,000.00	\$3,093.50 \$30,000.00	\$10.65 \$25,000.00	\$2,864.85 \$25,000.00	\$12.00 \$50,000.00	\$3,228.00 \$50,000.00
56 517-0002 57 517-0008		Maintain Field Office, Type B	\$2,000.00	\$8,000.00	\$4,500.00	\$40,500.00	\$30,000.00	\$52,200.00	\$3,355.00	\$30,195.00	\$3,300.00	\$29,700.00
58 517-0013	5,000.00 USD	Furnish Office Supplies (No-Bid)	\$2,000.00	\$18,000.00	\$4,300.00	\$5,000.00	\$5,800.00 \$1.00	\$5,000.00	\$3,353.00 \$1.00	\$5,000.00	\$3,300.00	\$5,000.00
59 519-N0002	1.00 L.S.	Remove and Salvage Toll Booths	\$15,000.00	\$15,000.00	\$50,000.00	\$50,000.00	\$300.00	\$300.00	\$75,000.00	\$75,000.00	\$40,000.00	\$40,000.00
60 521-N0002	1.00 L.S.	Toll Plaza Canopy Modifications, Location No. 1	\$35,000.00	\$35,000.00	\$16,000.00	\$16,000.00	\$25,000.00	\$25,000.00	\$31,421.00	\$31,421.00	\$15,000.00	\$15,000.00
		-r,	<del>+,</del>	, - 5,50	, .,	, 2,222.30	, -,	, -,	/	, - , -=	, -,	, -,

		BaseLine Item Detail	Colonnelli	Brothers, Inc.	Joseph M	. Sanzari, Inc.	Ferreira Const	truction Co. Inc.	Crisdel (	Group, Inc.	D'Annunzio	& Sons, Inc.
Item No. Unit Code Q	ty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total	Unit Price	Line Total
61 521-N0003	1.00 L.S.	Toll Plaza Canopy Modifications, Location No. 2	\$30,000.00	\$30,000.00	\$16,000.00	\$16,000.00	\$25,000.00	\$25,000.00	\$46,224.00	\$46,224.00	\$30,000.00	\$30,000.00
62 521-N0004	1.00 L.S.	Toll Plaza Canopy Modifications, Location No. 3	\$29,000.00	\$29,000.00	\$16,000.00	\$16,000.00	\$25,000.00	\$25,000.00	\$37,704.00	\$37,704.00	\$25,000.00	\$25,000.00
63 522-0001	6.00 Each	Test Pits	\$500.00	\$3,000.00	\$3,000.00	\$18,000.00	\$81.00	\$486.00	\$750.00	\$4,500.00	\$2,500.00	\$15,000.00
64 524-N0001	1.00 Each	Furnishing Temporary Impact Attenuator (Cartridge), 4 Bays, 24in Wide	\$40,000.00	\$40,000.00	\$39,000.00	\$39,000.00	\$37,000.00	\$37,000.00	\$29,110.55	\$29,110.55	\$35,000.00	\$35,000.00
65 599-N0005	1.00 Each	Toll Island Bumper	\$50,000.00	\$50,000.00	\$83,700.00	\$83,700.00	\$36,000.00	\$36,000.00	\$47,763.85	\$47,763.85	\$45,000.00	\$45,000.00
66 599-N0006	6.00 Each	Toll Island Bumper Removal	\$4,000.00	\$24,000.00	\$4,400.00	\$26,400.00	\$5,750.00	\$34,500.00	\$13,070.37	\$78,422.22	\$10,000.00	\$60,000.00
67 599-N0109	20,000.00 USD	Force Account for Toll Collection Equipment (No-Bid)	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
68 699-N0094	1.00 L.S.	Toll Plaza Electrical Work, Location No. 1	\$180,000.00	\$180,000.00	\$110,000.00	\$110,000.00	\$110,000.00	\$110,000.00	\$91,976.81	\$91,976.81	\$130,000.00	\$130,000.00
69 699-N0095	1.00 L.S.	Toll Plaza Electrical Work, Location No. 2	\$210,000.00	\$210,000.00	\$67,000.00	\$67,000.00	\$90,000.00	\$90,000.00	\$71,307.31	\$71,307.31	\$85,000.00	\$85,000.00
70 699-N0096	1.00 L.S.	Toll Plaza Electrical Work, Location No. 3	\$200,000.00	\$200,000.00	\$65,000.00	\$65,000.00	\$89,000.00	\$89,000.00	\$69,594.93	\$69,594.93	\$75,000.00	\$75,000.00
71 699-N0075	1.00 Each	Flashing Warning Beacon System	\$28,000.00	\$28,000.00	\$27,000.00	\$27,000.00	\$45,250.00	\$45,250.00	\$28,430.26	\$28,430.26	\$15,000.00	\$15,000.00
72 703-0001	543.00 S.Y.	Topsoil	\$5.00	\$2,715.00	\$29.00	\$15,747.00	\$28.00	\$15,204.00	\$33.10	\$17,973.30	\$42.00	\$22,806.00
73 704-0001	543.00 S.Y.	Seeding, Type A	\$1.00	\$543.00	\$8.00	\$4,344.00	\$9.00	\$4,887.00	\$2.27	\$1,232.61	\$6.00	\$3,258.00
74 704-0016	30.00 S.Y.	Seeding, Type PL	\$1.00	\$30.00	\$15.00	\$450.00	\$18.00	\$540.00	\$15.98	\$479.40	\$12.00	\$360.00
75 801-0001	1.00 L.S.	Furnishing Traffic Control Devices	\$80,000.00	\$80,000.00	\$151,563.00	\$151,563.00	\$290,000.00	\$290,000.00	\$590,313.97	\$590,313.97	\$375,000.00	\$375,000.00
76 801-0002	520.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$25.00	\$13,000.00	\$50.00	\$26,000.00	\$100.00	\$52,000.00	\$88.40	\$45,968.00	\$50.00	\$26,000.00
77 801-0003	520.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$25.00	\$13,000.00	\$70.00	\$36,400.00	\$185.00	\$96,200.00	\$92.04	\$47,860.80	\$75.00	\$39,000.00
78 801-0009	8.00 Each	Furnishing Portable Variable Message Sign	\$1,800.00	\$14,400.00	\$3,000.00	\$24,000.00	\$1.00	\$8.00	. ,	\$40,000.00	\$3,000.00	\$24,000.00
79 801-0013	6.00 Each	Furnishing Truck with Mounted Attenuator	\$3,000.00	\$18,000.00	\$10,000.00	\$60,000.00	\$10,000.00	\$60,000.00	. ,	\$6,000.00	\$12,000.00	\$72,000.00
80 801-0015	4.00 Each	Repair Truck Mounted Impact Attenuators	\$500.00	\$2,000.00	\$16,000.00	\$64,000.00	\$550.00	\$2,200.00	\$2,500.00	\$10,000.00	\$7,500.00	\$30,000.00
81 801-0018	1.00 Each	Furnishing Temporary Impact Attenuator (Array), 70 MPH	\$10,000.00	\$10,000.00	\$10,000.00	\$10,000.00	\$11,000.00	\$11,000.00	\$13,120.02	\$13,120.02	\$6,500.00	\$6,500.00
82 801-0019	1.00 Each	Placing and Removing Temporary Impact Attenuator (Array), 70 MPH	\$12,000.00	\$12,000.00	\$1,500.00	\$1,500.00	\$4,700.00	\$4,700.00	. ,	\$1,771.11	\$2,000.00	\$2,000.00
83 801-0020	10.00 Each	Repair and Reset Temporary Impact Attenuator (Array) Module	\$300.00	\$3,000.00	\$1,500.00	\$15,000.00	\$4,200.00	\$42,000.00	\$906.64	\$9,066.40	\$1,200.00	\$12,000.00
84 801-N0001	90.00 Each	Installation, Maintenance, and Removal of Lane Closing	\$2,920.00	\$262,800.00		\$180,000.00	\$1,800.00	\$162,000.00		\$484,379.10	\$4,000.00	\$360,000.00
85 803-N0001	1.00 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways	\$5,000.00	\$5,000.00	• •	\$20,000.00	\$29,000.00	\$29,000.00	\$25,000.00	\$25,000.00	\$25,000.00	\$25,000.00
86 203-0001	118.00 C.Y.	Embankment, Common	\$85.00	\$10,030.00	· ·	\$2,596.00	\$75.00	\$8,850.00		\$12,926.90	\$125.00	\$14,750.00
87 510-0011	1.00 Each	Beam Guide Rail Anchorage	\$5,000.00	• •			\$5,700.00	\$5,700.00	\$2,662.50	\$2,662.50	\$3,000.00	\$3,000.00
				\$3,496,034.00		\$3,534,987.00		\$3,735,472.00		\$3,972,705.00		\$4,267,000.00

		BaseLine Item Detail	Green Cons	struction, Inc.	IEW Construction Group Inc.		
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	
1 104-0001	1.00 L.S.	Construction Layout	\$35,000.00	\$35,000.00	\$55,250.61	\$55,250.61	
2 104-0002	1.00 L.S.	Mobilization	\$440,427.76	\$440,427.76	\$260,000.00	\$260,000.00	
3 107-0001	1.00 L.S.	Progress Schedule	\$11,500.00	\$11,500.00	\$10,000.00	\$10,000.00	
4 108-N0002	•	Allowance for Unforeseen Work (No-Bid)	\$1.00	\$150,000.00	\$1.00	\$150,000.00	
5 202-0002	888.00 C.Y.	Roadway Excavation, Earth	\$75.00	\$66,600.00	\$224.81	\$199,631.28	
6 202-0006	484.00 S.Y.	Removal of Concrete Pavement	\$125.00	\$60,500.00	\$292.42	\$141,531.28	
7 202-0009 8 203-0002	10,000.00 USD 449.00 C.Y.	Environmental Testing for Unsuitable and Excess Materials (No-Bid) Embankment, Grade A	\$1.00 \$100.00	\$10,000.00 \$44,900.00	\$1.00 \$122.68	\$10,000.00 \$55,083.32	
9 207-0001	24.00 Ton	Riprap Stone Slope Protection, 12in Thick, (D50=6in)	\$200.00	\$4,800.00	\$409.46	\$9,827.04	
10 208-N0001		Concrete Washout Facility	\$3,000.00	\$9,000.00	\$3,561.93	\$10,685.79	
11 208-N0002		Sediment Control Bags	\$500.00	\$2,500.00	\$1,065.51	\$5,327.55	
12 208-0008	1,647.00 L.F.	Heavy Duty Silt Fence	\$8.00	\$13,176.00	\$14.56	\$23,980.32	
13 208-0013	30.00 L.F.	Floating Turbidity Barriers	\$30.00	\$900.00	\$234.22	\$7,026.60	
14 208-0022	10.00 Each	Inlet Filter, Type 2	\$250.00	\$2,500.00	\$501.40	\$5,014.00	
15 210-0002	1.00 L.S.	Demolition Of Existing Structures No. 1	\$135,514.00	\$135,514.00	\$200,000.00	\$200,000.00	
16 210-0003	1.00 L.S.	Demolition Of Existing Structures No. 2	\$75,000.00	\$75,000.00	\$176,000.00	\$176,000.00	
17 210-0004	1.00 L.S.	Demolition of Existing Structures No. 3	\$75,000.00	\$75,000.00	\$317,000.00	\$317,000.00	
18 213-0002	30.00 Ton	Disposal of Regulated Material	\$75.00	\$2,250.00	\$68.86	\$2,065.80	
19 299-N0013	3 28.00 S.Y.	Geosynthetic Embankment Reinforcement	\$50.00	\$1,400.00	\$165.06	\$4,621.68	
20 299-N0014		Boulder	\$350.00	\$8,750.00	\$694.58	\$17,364.50	
21 301-0001	595.00 S.Y.	Aggregate Base Course, 6.5in Thick	\$17.00	\$10,115.00	\$36.04	\$21,443.80	
22 301-N0002		Aggregate Base Course, 8 in Thick	\$50.00	\$27,200.00	\$33.69	\$18,327.36	
23 302-0002	762.00 Ton	Hot Mix Asphalt 12.5M76 Surface Course	\$155.00	\$118,110.00	\$249.34	\$189,997.08	
24 302-0003	123.00 Ton	Hot Mix Asphalt 19M64 Intermediate Course	\$400.00	\$49,200.00	\$221.14	\$27,200.22	
25 302-0004	554.00 Ton 7 749.00 GAL	Hot Mix Asphalt 25M64 Base Course	\$200.00	\$110,800.00	\$221.14 \$1.19	\$122,511.56 \$891.31	
26 302-N0007 27 302-0063	1,300.00 USD	Trackless Tack Coat Asphalt Price Adjustment (No-Bid)	\$4.00 \$1.00	\$2,996.00 \$1,300.00	\$1.19	\$1,300.00	
28 302-0071	9,022.00 L.F.	Polymerized Joint Adhesive	\$0.75	\$6,766.50	\$0.59	\$5,322.98	
29 305-0003	4,081.00 S.Y.	Pavement Removal, 2 1/2in Depth	\$30.00	\$122,430.00	\$5.64	\$23,016.84	
30 305-0008	390.00 S.Y.	Pavement Removal, Variable Depth	\$24.00	\$9,360.00	\$5.64	\$2,199.60	
31 406-0009	1.00 L.S.	Overhead Cantilever Sign Support Structure No. 1	\$60,000.00	\$60,000.00	\$64,352.24	\$64,352.24	
32 406-0012	1.00 L.S.	Overhead Cantilever Sign Support Structure No. 2	\$60,000.00	\$60,000.00	\$67,201.78	\$67,201.78	
33 429-N0002		42 in Drilled Shaft for Sign Structures	\$1,600.00	\$80,000.00	\$2,971.78	\$148,589.00	
34 502-0005	116.00 L.F.	15 in Reinforced Concrete Pipe, Class III	\$260.00	\$30,160.00	\$216.97	\$25,168.52	
35 502-0006	32.00 L.F.	18 in Reinforced Concrete Pipe, Class III	\$400.00	\$12,800.00	\$304.93	\$9,757.76	
36 503-0001	2.00 Each	Inlet, Type D3	\$6,250.00	\$12,500.00	\$11,561.66	\$23,123.32	
37 503-0252	3.00 Each	Reconstructed Inlet, Type D1, Using New Grate and Frame	\$2,500.00	\$7,500.00	\$6,661.75	\$19,985.25	
38 503-0253	1.00 Each	Reconstructed Inlet, Type D2, Using New Grate and Frame	\$2,500.00	\$2,500.00	\$8,723.38	\$8,723.38	
39 503-0293	2.00 Each	Reset Frames	\$1,500.00	\$3,000.00	\$3,092.46	\$6,184.92	
40 504-0011	1.00 C.Y.	Incidental Concrete	\$300.00	\$300.00	\$3,765.97	\$3,765.97	
41 506-0001	433.00 L.F.	Concrete Curb, Type A	\$70.00	\$30,310.00	\$66.49	\$28,790.17	
42 506-0004	17.00 L.F.	Concrete Curb, Type B Doweled	\$130.00	\$2,210.00	\$80.74	\$1,372.58	
43 508-0007 44 509-0001	948.00 L.F. 121.00 S.F.	Concrete Median Barrier Removal, Roadway Sign Panels	\$100.00 \$110.00	\$94,800.00 \$13,310.00	\$139.74 \$128.23	\$132,473.52	
45 509-0007	5.00 Each	Removal of Existing Overhead and Ground-Mounted Sign Panels	\$3,750.00	\$18,750.00	\$6,589.57	\$15,515.83 \$32,947.85	
46 509-N0009		Relocate Sign Panels (Overhead)	\$5,650.00	\$28,250.00	\$9,844.78	\$49,223.90	
47 510-0001	251.00 L.F.	Beam Guide Rail	\$83.00	\$20,833.00	\$98.55	\$24,736.05	
48 510-0031	371.00 L.F.	Removal of Beam Guide Rail	\$5.00	\$1,855.00	\$43.93	\$16,298.03	
49 511-N0025		Reset Fence	\$100.00	\$5,000.00	\$256.77	\$12,838.50	
50 514-0001	36.00 S.Y.	Concrete Sidewalk, 4in Thick	\$250.00	\$9,000.00	\$831.12	\$29,920.32	
51 516-0005	9,492.00 L.F.	Striping and Marking Removal, Hydromilling	\$1.75	\$16,611.00	\$1.78	\$16,895.76	
52 516-0007	1,000.00 L.F.	Temporary Pavement Striping	\$2.25	\$2,250.00	\$2.37	\$2,370.00	
53 516-0009	5,471.00 L.F.	Traffic Stripes, Long-Life, Thermoplastic	\$1.70	\$9,300.70	\$1.78	\$9,738.38	
54 516-0011	3,766.00 L.F.	Traffic Markings, Lines, Long-Life, Thermoplastic	\$2.10	\$7,908.60	\$2.14	\$8,059.24	
55 516-0013	269.00 S.F.	Traffic Markings, Symbols, Long-Life, Thermoplastic	\$11.00	\$2,959.00	\$11.87	\$3,193.03	
56 517-0002	1.00 L.S.	Furnish Field Office, Type B	\$55,000.00	\$55,000.00	\$58,143.74	\$58,143.74	
		AA : A : F: LLOW: T D	\$7,500.00	\$67,500.00	\$4,922.89	\$44,306.01	
57 517-0008	9.00 Mnth	Maintain Field Office, Type B	\$7,500.00	707,500.00	74,322.03	φ 1 1,500.0±	
57 517-0008 58 517-0013	5,000.00 USD	Furnish Office Supplies (No-Bid)	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
	5,000.00 USD 2 1.00 L.S.						

		BaseLine Item Detail	Green Con	struction, Inc.	IEW Construction Group Inc.		
Item No. Unit Code	Qty UOM	Description	Unit Price	Line Total	Unit Price	Line Total	
61 521-N0003	1.00 L.S.	Toll Plaza Canopy Modifications, Location No. 2	\$150,000.00	\$150,000.00	\$56,526.87	\$56,526.87	
62 521-N0004	1.00 L.S.	Toll Plaza Canopy Modifications, Location No. 3	\$150,000.00	\$150,000.00	\$25,527.18	\$25,527.18	
63 522-0001	6.00 Each	Test Pits	\$500.00	\$3,000.00	\$4,392.36	\$26,354.16	
64 524-N0001	1.00 Each	Furnishing Temporary Impact Attenuator (Cartridge), 4 Bays, 24in Wide	\$7,500.00	\$7,500.00	\$37,513.17	\$37,513.17	
65 599-N0005	1.00 Each	Toll Island Bumper	\$75,000.00	\$75,000.00	\$58,742.97	\$58,742.97	
66 599-N0006	6.00 Each	Toll Island Bumper Removal	\$7,500.00	\$45,000.00	\$12,432.18	\$74,593.08	
67 599-N0109	20,000.00 USD	Force Account for Toll Collection Equipment (No-Bid)	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
68 699-N0094	1.00 L.S.	Toll Plaza Electrical Work, Location No. 1	\$145,000.00	\$145,000.00	\$121,654.13	\$121,654.13	
69 699-N0095	1.00 L.S.	Toll Plaza Electrical Work, Location No. 2	\$145,000.00	\$145,000.00	\$134,070.76	\$134,070.76	
70 699-N0096	1.00 L.S.	Toll Plaza Electrical Work, Location No. 3	\$145,000.00	\$145,000.00	\$154,155.50	\$154,155.50	
71 699-N0075	1.00 Each	Flashing Warning Beacon System	\$25,000.00	\$25,000.00	\$39,573.28	\$39,573.28	
72 703-0001	543.00 S.Y.	Topsoil	\$11.00	\$5,973.00	\$24.93	\$13,536.99	
73 704-0001	543.00 S.Y.	Seeding, Type A	\$2.00	\$1,086.00	\$19.06	\$10,349.58	
74 704-0016	30.00 S.Y.	Seeding, Type PL	\$6.00	\$180.00	\$49.27	\$1,478.10	
75 801-0001	1.00 L.S.	Furnishing Traffic Control Devices	\$200,000.00	\$200,000.00	\$577,454.96	\$577,454.96	
76 801-0002	520.00 L.F.	Furnishing Precast Concrete Construction Barrier	\$75.00	\$39,000.00	\$81.44	\$42,348.80	
77 801-0003	520.00 L.F.	Placing and Removing Precast Concrete Construction Barrier	\$50.00	\$26,000.00	\$29.07	\$15,116.40	
78 801-0009	8.00 Each	Furnishing Portable Variable Message Sign	\$17,500.00	\$140,000.00	\$1,812.39	\$14,499.12	
79 801-0013	6.00 Each	Furnishing Truck with Mounted Attenuator	\$30,000.00	\$180,000.00	\$9,528.17	\$57,169.02	
80 801-0015	4.00 Each	Repair Truck Mounted Impact Attenuators	\$0.01	\$0.04	\$0.01	\$0.04	
81 801-0018	1.00 Each	Furnishing Temporary Impact Attenuator (Array), 70 MPH	\$8,500.00	\$8,500.00	\$10,499.26	\$10,499.26	
82 801-0019	1.00 Each	Placing and Removing Temporary Impact Attenuator (Array), 70 MPH	\$3,500.00	\$3,500.00	\$3,089.04	\$3,089.04	
83 801-0020	10.00 Each	Repair and Reset Temporary Impact Attenuator (Array) Module	\$0.01	\$0.10	\$2,189.02	\$21,890.20	
84 801-N0001	90.00 Each	Installation, Maintenance, and Removal of Lane Closing	\$7,500.00	\$675,000.00	\$3,338.49	\$300,464.10	
85 803-N0001	1.00 L.S.	Maintenance and Protection of Traffic on State, County, and Local Roadways	\$15,000.00	\$15,000.00	\$18,406.55	\$18,406.55	
86 203-0001	118.00 C.Y.	Embankment, Common	\$0.01	\$1.18	\$158.72	\$18,728.96	
87 510-0011	1.00 Each	Beam Guide Rail Anchorage	\$3,500.00	\$3,500.00	\$5,966.24	\$5,966.24	
				\$4,670,842.88		\$4,891,900.63	